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(1) The territory of Porus who offered strong resistance to Alexander was situated between the rivers of
[A] Sutlej and Beas

[B] Jhelum and Chenab

[C] Ravi and Chenab

[D] Ganga and Yamuna

Answer : [B]
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(2) Vikramaditya, a king of Ujjain, started the Vikrama samvat in 58 BC in commemoration of his victory over
[A] Indo-Greeks

[B] Sakas

[C] Parthinas

[D] Kushanas

Answer : [B]
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(3) There were widespread risings against the British in the 1820s. Which one of the following did not revolt in the 1820s?
[A] Santhals

[B] Ahoms

[C] Pagal Panthis

[D] Ramosi

Answer : [A]
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(4) Tulsidas, the author of Ramcharitmanas, was a contemporary of which of the following rulers?
[A] Akbar

[B] Humayun

[C] Shahjahan

[D] Sher Shah Suri

Answer : [A]
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(5) The Kalinga was fought in
[A] 321 BC

[B] 301 BC



[C]261 BC
[D] 241 BC

Answer : [C]
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(6) The principal copper deposits of India lie in which of the following places?

[A] Hazaribag and Singbhum of Bihar

[B] Khetri and Daribo areas of Rajasthan

[C] Anantapur in Andhra Pradesh

[D] Siwaliks in Uttar Pradesh and in Karnataka

Answer : [A]

Explanation: India's copper ore reserves have been estimated at 400 million tonnes, with a metal content of 5 million tones. The principal copper belt of

India lies in Singhbhum and Hazaribagh in Jharkhand. The mining centres are located at Mosabani, Ghatsila, Thobani and Badia of Singbhbum,
Hazaribagh of Bihar, the Khetri and Dariba areas of Rajasthan, and Agnigundala of Andhra Pradesh. Total production is 2.6 million tones.
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(7) The only state in India that produces saffron is
[A] Assam

[B] Himachal Pradesh

[C] Jammu and Kashmir

[D] Meghalaya

Answer : [C]
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(8) The watershed between India and Myanmar is formed by
[A] the Naga hills

[B] the Garo hills

[C] Khasi hills

[D] the Jaintia hills

Answer : [A]
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(9) Which of the following countries leads in the production of aluminium and its products in the world?
[A] Australia

[B] France

[C] India

[D] USA

Answer : [D]
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(10) Which of the following crops is regarded as a plantation crop?
[A] Coconut

[B] Cotton

[C] Sugarcane

[D] Rice

Answer : [A]
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(11) Which of the following is a peninsular river of India?
[A] Gandak

[B] Kosi

[C] Krishna

[D] Sutlej

Answer : [C]
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(12) The scarcity or crop failure of which of the following can cause a serious edible oil crisis in India?
[A] coconut

[B] Groundnut

[C] Linseed

[D] Mustard

Answer : [B]
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(13) In which year was Pulitzer Prize established?
[A] 1917
[B] 1918
[C] 1922
[D] 1928

Answer : [A]
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(14) The first Indian to receive Noble Prize in Literature was
[A] Mother Teresa

[B] C. V. Raman

[C] Rabindranath Tagore

[D] Sarojini Naidu

Answer : [C]
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(15) Shanthi Swaroop Bhatnagar awards are given for

[A] exploring new dimensions in creative writing in Indian languages
[B] outstanding contribution to science

[C] creating mass awareness on environmental issues

[D] excellence in film direction

Answer : [B]
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(16) Manav Seva Award has been instituted in the memory of
[A] Rajiv Gandhi

[B] Dr. Rajendra Prasad

[C] Indira Gandhi

[D] Acharya

Answer : [A]
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(17) What is part of a database that holds only one type of information?
[A] Report

[B] Field

[C] Record

[D] File

Answer : [B]
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(18) After the first photons of light are produced, which process is responsible for amplification of the light?

[A] Blackbody radiation

[B] Stimulated emission

[C] Planck's radiation

[D] Einstein oscillation

Answer : [B]

Explanation: The word "laser" is actually an acronym for light amplification by stimulated emission of radiation. Atoms or molecules of the active

medium that have been excited to a higher energy level are stimulated by a passing photon to relax to a lower energy level and emit a photon that is
indistinguishable from the passing photon, thereby increasing the number of photons like the incident one.
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(19) "FET" is a type of transistor, Its full name is Effect Transistor...?
[A] Field

[B] Factor



[C] Flash
[D] Force
Answer : [A]

Explanation: The terminals of FETs are called gate, drain and source. You might be more familiar with bipolar junction transistors (BJTs), which have
terminals called base, collector and emitter. FETs were conceptualized first, but BJTs were easier to produce and so developed sooner.
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(20) What does CPU stand for?
[A] Cute People United

[B] Commonwealth Press Union
[C] Computer Parts of USA

[D] Central Processing Unit

Answer : [D]
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(21) Experts say the healthiest way to view a computer monitor is by...
[A] Placing it 18 to 30 inches away from your eyes

[B] Viewing from a darkened room

[C] Adjusting the screen for maximum contrast

[D] Using special glasses that filter out UV rays

Answer : [A]
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